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Q1 =36691 x =777 % 1.002416 x 10° — 0.00294 x 10°
=159795 3/
3 w=20 /
D,
B ~, [159795
D, =1.88x 10 50 =1.68
4 Y AH =294.3 + 2943 300
=3237.3 =0.03237x 10°
70°C d=0.359
_ 0.359) 273 + 70 1.0133x 10°
02_36691X(1+0.804 X273 X 1.002416 % 10° - 0.03237 x 10°
=69636 °/
w =58 / D =1.88x10'ﬂ/%§6=0.65
5 18 / D,
DZ=1.88><10'2A/%36=1.17
18
6 L=0.6xD =0.6x0.65=0.39 =390
7 a, =24° L,
L, :% 1680 - 650 /tgl2° = 2422
8 a,=7° L,
L, =% 1170 - 650 /1g3.5° = 4262
9

L =390+ 2422 + 4262 =7074

654 -



/

500 ~ 1000

6-1-18

6-1-18

$500

6-1-19

6-1-20

RZ200

11

$500

<400

6-1-19

655 -



9 fo
/f-’\\ 8,
\\ / —,
6-1-20
6-1-21
100 ~ 120 / 90 ~ 95%
3~6 11772 ~ 13734 1200 ~ 1400
P—A
6-1-22
350 ~ 200
— R—D
R—D
-1-23

656 -



800

7848

1180

11576

6-1-21

x3

1969

~ 80°

30°

6-1-24

657 -



658 -

1— 2— 3— 4—
5— 6— 7—
1
2 V@
9D
3] []—=—2
300 1750
6-1-23 — R—D
1— 2— 3—



12557
8829
2}
1905
<15
& =
= .
081
5
2050 3w 70 %
°TTH W 60 & 100
%
6-1-24 R—D
2
3
4 P—
5
P—A
6-1-25
2 25 6-1-26

659 -



Q000000600

25°

15°

6-1-25

KREY
® W5

= 1

_ L
g [}
JREER m |
ﬁ___ ____4_ . '
1 : i
JU\ 1] R g rll%\ "
r,/ i
N~ _ i
t
.
o 1] prhf | RESX £ |
\ Y rr I |
- —
A | s |

8-18-12 AL @

6-1-26

800 ~ 450°C

660 -



6-1-27

hi}
1T}

. it A

6-1-27

6-1-28
1~1.5 7/
6-1-29

© 661 -



K2

6-1-28

6-1-29

© 662 -



6-1-6

6-1-6
A
v o/ o %
N/m* Pa
196.2 ~ 490.5Pa
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1600C
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20%
CO + NaOH —>HCOONa
600
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COONa
2HCOONa— 2% > +H,
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o
150 NH,
CO+ H,0—>CO0, + H,
N, +3H, —2NH,
3600 30
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3 0.8%
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~2% 120 2.5~5
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80

€O, —>CaCO, + H,0 CaCO,

CO,

60 ~ 120 / :

H, CO 800 ~ 1100°C

3Fe, O; + H, =2Fe; 0, + H, 0

Fe; O, + H, =3FeO + H, 0

FeO+ H, =Fe+ H,0

3Fe, 05 + CO=2Fe; 0, + CO,

Fe; O, + CO =3FeO + CO,

FeO + CO = Fe + CO,

H, CO

900 ~ 1000°C
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3Fe, 0; + C=2Fe; O, + CO

Fe,0, + C = 3Fe0 + CO

FeO+ C=Fe+ CO

6-2-16-2-26-2-3

6-2-1
TFe V,0s5 | MnO TiO2 S P Ca0 | MgO | SiO, [AL O3 C
% 45.69 ~52.950.53 1 0.11 {0.277~0.37/ 0.19~0.23 |0.030|17.60| 0.93 | 4.00 | 1.61 | 2.35~2.96
6-2-2
2pm 2 ~5pm 5~ 10pm 10pm
% 69 23.2 5.15 2.65
TFe52.92% TFe70.88% TFe84% TFe97.27%
58% 87 %
TFe97.46% 50%
6-2-3 %
TFe v Ti C P S Mn
97.46 0.061 0.0276 0.024 0.009 0.018 0.14
800 ~ 1000°C 1~3 6~12
95%
H, CO
C
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1.0~1.3%  0.8%
4905 ~ 9810 x 10°
1080 ~ 1100°C V Ti
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12 ~15% ¢ 5
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686 -



400 ~ 500°C

> Fe

Al O,

15 ~24%
1.5% +

P,0; 0.8% ~1.0%

> Fe

Al, O,

15~18%
1.5~2.0%

P,0, 1.0~1.5%

30

6 ~8%

15.4 ~28 /

FeO 14~19%
Ca0 49 ~51%

MnO 0.4~0.7%

FeO 12~15%
CaO 48~52%

MnO 0.7~1.0%

20

—>

20 ~ 30

100 ~ 150C

10 ~ 50

Si0, 13 ~15%

MgO 2~6%

Si0, 15~20%
MgO 5.5~6.0%

R 2.5~4.0
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18 %

180

4 2
? A% +02=§V203
2 V +3 0 = V203
V, 05
8~11%
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1100°C
76.27%
70%
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6-2-2
pH
CO,
2~3
0.5~1 / 50 ~ 60°C 5:
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0 = V xT
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T——
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2~3
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150 150
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pH OH™ HCO; pH

1 pH >9
2 pH=8~9 8.7
Ca+ + Mg+ + K+ Na+
3 pH<38 pH 2.9
~9.2 7.45
Cco,
CaO Ca"™® Mg""
CaO CaO
CaO Ca OH , pH
CO, CO,
CO, Cco, Cco, Ca
OH , CaCO, CO, pH
K Na
Na,CO; NaOH
Co, NaHCO, Ca OH , CaCO;,
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NaHCO; + CO, + H,0 —>2NaHCO,
2NaHCO, + Ca OH , —>CaCO; v + Na,CO, +2H,0

Na, CO, CO,
pH
Ca0  CO,
Co, Ca0 pH 7
Ca0 Co,
CO, CaO
pH 8.7
Ca0  CO, Co,
Ca0 Ca OH ,
Co,
Co, Co,
Na, CO, Co, Co,
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